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O HHYSEHHAZH Ot 70,622,500& * 14 70,623
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(350,000 + (5,000& * 6H)) » 12& 4,560
olF2gHI(g - o - 5) 1,164,372 1,187,408 ~23,036
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01 2% 1,072,311 1,092,037 N19,726
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o 63 10,331& » 87Y * 25A|2F = 128 269,640
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o 93 7,573& * 57 * 25A12F » 128 129,499
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At5) 3,445
o A= 100,000 * 13¥ * 13 1,300
o gst= 100,000 = 13& * 13 1,300
o 2 9 15,000& * 139 = 13| 195
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O A2 (SHES) 88,616
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11,5302 » 1 = 12A12F = 12& » 150% 2,491
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o BZ0ISHA (L3, 384, &4s)
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[2Zt(g - ¢ - =) 3,030,557 3,118,269 AB7,712
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201 et 1,758,979 1,843,879 284,900
01 At 2teltl 764,736 808,209 AN43,473
O Let=ZHl SHUA L  329,508,000& * 14 329,508
O 2E+Y SUNHY 155,920,000 * 14! 155,920
O I=dl SAAH& 1,680,000& * 14 1,680
O SEHl SHAH& 221,628,000 * 14 221,628
O Xz SHH & 56,000,000& = 14 56,000
02 =224l 994,243 1,035,670 NAT,427
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462,550,000& * 14 462,550
O d=H W& 55,350,000& * 14 55,350
ANEZH S SHA L
185,000,000& * 14! 185,000
O A& - detdl S &
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01 = LH o4 1l 72,818 86,610 N 13,792
O IUHAHY SHUAHA 72,818,000& = 14 72,818
02 M0 912,000 900,000 12,000
O AHH sHAA
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